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GEOGRAPHY
( General )
( Economic, Political hn‘cl
Environmental Geography )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Choose the correct answer of the following :
1x10=10
Tore AR v SEach! i S :

(a) Which of the following is not a branch
of economic geography?

TR (TG ARARTT Geaier BT =M1 77 2
() Agricultural geography

IR peam=
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(b}

8A/799

(2)

(i) Industrial geography
I gt

(i) Transport geography
CRISACTT pCsIe

(iv) Political geography
IRASF P
Which of the following two seas are
connected by the Suez Canal?
T (I T RSP TR A A Fw?

(i Black Sea and Aegean Sea
TR R S A R

(ii) Atlantic Ocean and Mediterranean
Sea :

G5 FISRE S JI 7R

(i) Mediterranean Sea and Red Sea

G4 R SF CANRS M

(iv) North Sea and Baltic Sea
TG R F DS A

( Continued )

()

(d

8A/T799

(3)

In which of the following regions the
Gondwana Coal of India is found?

T (IO KT SRGH SCURFT Tl (o
w2
(i) Makum
Rib3
(ij) Tamil Nadu
SRS
(iij) Deccan Plateau
wif¥pemer el
(iv) Rajasthan
IEER

Pigmi, Bushmen and Hottentot people
are associated with

Paft, @ T T ClBR G
e RO =7A
(i) collecting occupation
e e
(i) hunting occupation
foera 3%
(iti) fishing occupation
AT 3
(iv) animal rearing occupation
*rReeie e

( Turn Over )



(S)
(4)

fg) Which one of the following is not

(e} 95% tea of the world is produced in ; considered as greenhouse gas?
AT ve% TR Beow = | ToR (IRY (T CTomopE (1= &1 41 7= 2
(i Assam i) CO,
R | TR SIREHLE
(i) India | fi) O,
SHASS g
(i) Sri Lanka (iti) O,
Fercere e
(iv) South-East Asia (iv) N,O
- e RGrE RS

() Which of the following countries
produces highest amount of iron and
steel in the world?

(h} The species Acacia is included under

gy o= SRRy wmde @ RW

o @ o SRR R T ST S 2P X
TR FI? fi) tropical monsoon forest
(i) USA R TP T
LU W (i) tropical mountain forest
(i) Russia R eirfey FFeeE
R (iif) tropical thorn forest
(i) Japan R I T
= (iv) mangrove forest
(iv) India | GIR I
SREH
8A/799 ( Turmn Over )
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(6)

() Which of the following geographers
developed the ‘Theory of Organic State’?

TER (FIEE QEIRCT TRRE IE’I TR
IRfEE 2
(i) Carl Ritter
Fe Ro”
(i) Freidrich Ratzel
@R ICE

(i) Halford J. Mackinder
TS (& @R

{iv) Karl Haushofer
e TTFR

() The international boundary between
India and Afghanistan is known as

TS HF AT SBAEE S o I

() Durand Line

TG A B

(i) Radcliffe Line
(T e ot

(i) McMahon Line
e creEo i ECREV A

(iv) Indo-Afghan Border
S-SR S 51

8A /799
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(7)

2. Answer the following questions in brief :

2x5=10
T 2PTR 5 T fi
(a) Write two examples of quarternary
occupation.
o943 3T o1 Trzae fordn |

(b) Mention two problems of a landlocked
country.

ST SO AT GI7 o1 501 Tear 391 |

{c) What is greenhouse?

cieweE 67

(d) Write two differences between subsis-
tence agriculture and commercial
agriculture.

@ﬁﬁﬁwmvﬁaw
9o1 #1141 rEg 47 |

(e} Mention four factors of flood in Assam.

TS (ZA1 IFAN SIRBT IRT Srmy T
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(8)

3. Answer any four of the following questions :
5x4=20

wore fudl e R e wiftm T fin

fa) Mention five means of conservation of
natural resources.

ATFISF F=oW FATHIT 601 Seoirg By 91 |

(b) Write the distinctions between Jhum
cultivation and Terrace cultivation.

s wF @fie IRT TS A IR
o

(c) Write the precautionary measures to be
taken for reduction of damage from
earthquake.

F-HY AT AR T Tm Rees
PR (AR TS 390 FARYFCIE o |

(d) Write the importance of oceans as the
source of resource.

Seomq BeoT 201l TRPTGREIRT &Fg foran |-

8A /799 { Continued )
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(e)

(9)

Write the differences between State and
Nation.

B T TST TS NLFIRE oran |

Write an account on the drought prone
areas of India.

SR [RARe ey R o1 G
1

i

4. Answer any four of the following questions :

oot fra oPPoTTRA f QReen wifvere S foan

(@)

(b)

8A/T99

10x4=40

Define economic geography. Explain the
regional and systematic approaches in
economic geography. 2+4+4=10

AT poaEE e Ot | wehkART geae
GYET SEEE ofF WE ATART TS ol
T 4

What are the major iron ores? Explain
the pattern of production and distri-

bution of iron ore in the world. 3+7=10
@R 9 TRPRR & /2 @ @R wea
e S RSI9 T70F A1 F447 |
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(c)

(d)

(e)

8A /799

( 10)
State the necessary geographical
conditions for cotton plantation.

Discuss about the distribution of cotton
in the world with special reference to
India. 3+7=10

TR A IR AR SRR IR
TraEd 991 | SRS IR (34fS Remerna Sas
FR f3de TR Read Trm 591 1

Explain the geographical factors for
location of industry in an area. 10

Rl G %S FICHTTS FoFR A AR
SIS PRI TR F40 |

Define environmental geography.
Explain the scope of environmental
geography. 4+6=10

sfcafe grER e PR TR SRR I
|

What are the factors of global warming?
Explain the effects of global warming on
the earth. 4+6=10

e Tael IR IRz R R (red
Tar (AT @EER der CTEINE,
I 0

{ Continued )

(11)

g9 What do you mean by biodiversity?

()

8A—6000/799

Explain the causes of gradual loss of
biodiversity in North-East India with
special reference to Assam. 3+7=10

(Eatalva T & @ e Rewes SEy
IR TEI-o7 TS (SRIMArel FEE 2P
(TAR FRPIR I 41 |

Define buffer State. Explain with
examples the importance of buffer State

in the international scenario. 2+8=10
AFR G = T | IR e AR
JEY BTG ARRATTR IR F4 |
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